4
ESPLOSO KART | KART EXPLOSION

IPK RACE LINE LIGHT



RACE LINE LIGHT / PRICE LIST 2020

Descrizione

description

e FB)

RACE LINE LIGHT FRAME
PARAURTI ANTERIORE RACE LINE LIGHT
RACE LINE LIGHT FRONT BUMPER

FRONT SPOILER MOD. 506 -black-
SUPPORTO SPOILER ANTERIORE RACE LINE LIGHT - black

RACE LINE LIGHT FRONT SPOILER SUPPORT - black

RACE LINE LIGHT FRONT PLASTIC ABSOBER

C PLASTICA AMMORTIZZANTE RACE LINE LIGHT (2 pezzi)
RACE LINE LIGHT C PLASTIC ABSORBER (2 pieces)

LOW NUMBER HOLDER SUPPORT -chromed
FRONTALINO PORTANUMERO MOD. 506 - nero

NUMBER HOLDER MOD. 506 - black

MOD. 506 HIGH NASSAU PANEL SUPPORT KIT CHROMED (R+L)
SERBATOIO DI RECUPERO
RECOVERY TANK

RACE LINE LIGHT BRAKE PEDAL -red-

RACE LINE LIGHT ACCELERATOR PEDAL -green-
ESTENSIONE PEDALE RACE LINE LIGHT (2 pezzi)
RACE LINE LIGHT PEDAL EXTENSION (2 pieces)

RACE LINE LIGHT CUT-OFF SYSTEM
SISTEMA FRENANTE RACE LINE LIGHT (con porto disco 40mm) -black line-

14 BRK-SYSBLAORLL RACE LINE LIGHT BRAKE SYSTEM (with 40mm brake disc support) -black line- 1 6/800
U — 8,100
PRAGA LEMANS STEERING WHEEL 4
MOZZO VOLANTE KF INCLINATO - annodizzato titan gold
16 STR-KFHUBSL-RLL STEERING WHEEL SLANTING HUB KF - titan gold anodized 1 1 ’500

STEERING LOCKING COLUMN BUSH -titan gold anodized
SUPPORTO PIANTONE STERZO 2 FORI

18  [STR-COLSUP2H-RLL STEERING COLUMN SUPPORT 2 HOLES

STEERING COLUMN L490mm-chromed RACE LINE LIGHT

SEEGER #23.5mm

20 |KIT-VT-SG23-RLL SEEGER 123.5mm

RADIAL UNIBALL #8
TIRANTE STERZO RACE LINE DESTRO

22 |CS-STR-TRDRGHRLL RACE LINE LIGHT STEERING TIE ROD RIGHT 41300
_STR-TRD R 4300
RACE LINE LIGHT STEERING TIE ROD L210mm "
CERCHIO POSTERIORE VENTILATO AL. L210mm (VALVOLA E VITI)
24 |CS-RIM-RR210ALRLL VENTED ALUMINIUM REAR RIM L210mm (VALVE - BEADLOCK SCREW) 1 21700

ALUMINIUM FRONT RIM H125 HUB @42 indoor RACE LINE LIGHT (with bearings)
DADO METALBLOCK FLANGIATO RAMATO M8 (12 pezzi)

26 KIT-VT-NTO8FMBRLL NUT FLANGED METALBLOCK COPPER M8 (12 pieces)

LEFT SPINDLE MOD.R #25MM 10° CHROMED REINFORCED RACE LINE LIGHT
FUSELLO DESTRO MOD.R @#25MM 10° CROMATO RINFORZATO RACE LINE LIGHT

28 |CS-SPD-RGH2510R-RLL
RIGHT SPINDLE MOD.R @25MM 10° CHROMED REINFORCED RACE LINE LIGHT

IPK RACE LINE LIGHT




RACE LINE LIGHT / PRICE LIST 2020

MOZZ0 POSTERIORE @#40x75mm con viteria BLACK LINE

30 |CS-HUB-RRAO75BL-RLL 13.200
REAR HUB @40x75mm with screw BLACK LINE !
KIT-VT-5P0525-RLL SPINDLE SPACER 25 H5mm - anod. inox 920
DISTANZIALE FUSELLO 25 H10mm - anod.inox
32 |KIT-VT-SP1025-RLL 1,030
SPINDLE SPACER @25mm H10mm - anod.inox !
KIT-VT-NTI4SL-RLL NUT SELFLOCK LOW M14 90
PARAURTI SINISTRO RACE LINE LIGHT -NERO-
34A |BDW-LFTBMP-RLL 34.000
RACE LINE LIGHT LEFT BUMPER '
PARAURTI DESTRO RACE LINE LIGHT -NERO-
348 |BDW-RGHBMP-RLL 34.000
RACE LINE LIGHT RIGHT BUMPER -BLACK- '
BDW-LFTBDW-RLL RACE LINE LIGHT LEFT BODYWORK 4,000
CARENATURA DESTRA RACE LINE LIGHT
36 |BDW-RGHBDW-RLL 34.000
RACE LINE LIGHT RIGHT BODYWORK '
CS-BDW-LFTSUPRLL RACE LINE LIGHTLEFT BODYWORK SUPPORT -chromed- 4,000
SUPPORTO CARENATURA DESTRA RACE LINE LIGHT - cromato
38 |cs-BDW-RGHSUPRLL 34.000
RACE LINE LIGHT RIGHT BODYWORK SUPPORT - chromed '
9" KIT-BDW-LATPLABSRLL iR ACE LINE LIGHT LATER PLASTIC ABSORBER (2 pieces) 14,100
ASSALE RACE LINE LIGHT (40x3x900mm
40 |AXL-40900-RLL 30.200
RACE LINE LIGHT AXLE {40x3x900mm '
A1 KIT-AXL-KEYSS60-RLL  ayi ey sxexeomm 400
CUSCINETTO (40x80mm con grani per assale da #40mm
42 |cs-cu-4080-RLL 4,500

BEARING @#40x80mm with pins for @40mm axle

BEARING BUSH SUPPORT @#80mm axle $40-@50mm BLACK LINE T2

TENDI CATENA RACE LINE LIGHT

44 |CHNSTR-RLL
CHAIN STRETCHER RACE LINE LIGHT 9,400
45" /ICHN-SPRAORLL RACE LINE LIGHT $40mm 28 teeth SPROCKET
PARAURTI POSTERIORE RACE LINE LIGHT
46 |BDW-RRBMPRLL 34.000
RACE LINE LIGHT REAR BUMPER '
47" KIT-BDW-RRPLABSRLL ™! RACE LINE LIGHT REAR PLASTIC ABSORBER (2 pieces) 14,100
COPERTURA ASSALE RACE LINE LIGHT
48 |BDW-AXLCRRLL 34.000
RACE LINE LIGHT AXLE COVER '
43 KIT-BDW-AXLCRSUPRLL RACE LINE LIGHT AXLE COVER SUPPORT -chromed (2 pieces) 711 00
50A |STS-XL-RLL SEDILE PLASTICA taglia XL- nero 29300
PLASTIC SEAT size XL - black '
508 |STS-2XL-RLL SEDILE PLASTICA taglia XL- nero 29 300
PLASTIC SEAT size 2XL -black '
CS-STG-RLL RACE LINE LIGHT ADJUSTABLE SEAT GUIDE SYSTEM - black 4,000
52 |CS-TNK-FLT8L-RLL SERBATOIO 8.5 10,100
FUEL TANK 8.5L '
FLP-RCNEVO-RLL RACING FLOOR PLATE EVO 16,200
MOTORE TILLOTSON 350
54 |CS-ENG-TIL350
ENGINE TILLOTSON 350
CHN-SPR12PN-RLL PINION 12 TEETH 4,700

CATENA D.1.D. 428 HD - 80 MAGLIE -ORO-
56 |CHN-428HD80-RLL

CHAIN D.1.D. 428 HD - 80 LINKS -GOLD-

IPK RACE LINE LIGHT




